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	Extra Practice Answer Key

	1. Charge – positive, neutral, negative

Where it’s found – nucleus, nucleus, electron cloud

Mass – 1 amu, 1 amu, massless

2. This data reveals that the nucleus is extremely small and this is where protons can be found. Because roughly 98% of the alpha particles went straight through, this means that the atom is mostly empty space. The small amount of minor deflections is when the positively charged alpha particles were deflected by the negatively charged electrons. This means that the electrons can be found in the electron cloud. Finally, the nucleus is small and positive due to the fact that the alpha particles were deflected back.

3. B

4. A

5. D

6. Ernest Rutherford discovered the nucleus is where the positively charged electrons are located and this nucleus has a very high density. He also discovered that the electrons were located in the electron cloud around the nucleus. He discovered this using his gold foil experiment.

7. The Octet rule states that atoms like to have 8 valence electrons. Therefore, they will gain or lose electrons to achieve a full Octet.

8. 1 valence electron. Show drawing to Mr. Lance

9. a. Show drawing to Mr. Lance

b. 2

c. Ca2+, it would lose two electrons to form this cation.
	1. 2

2. 3

3. B

4. A

5. C

6. 4

7. 3

8. 3

9. A

10. D

11. C


